Topic: Miscellaneous

Time: 10min
Paper-Maker Monika Awasthi

Directions (1-5): fwferfad ST #T eqTq@ s LTI hitord T A= 2T T 3277 % 33
ISRk

e Thehed T TR §91 6 AT AT 63 il A IHE 1AL 96 gl ITH & TdH -3
39T | et gl F, A & 970 § gAY €A1 9T 937 gl e dr ¥ gafdd A<n, A &7 [Hahead
TETHT g1 SEEioraT & Tafad =th ¥ E % WeT Fad dI A<k 96 g1 Siele o q¥aferd oAf<h
T E o TeT hael Uah Ak ST | IeTT SITRIT & HaTerd A1k, 3 o q¥a{ad SAh & dih
FTU T 92 937 g1 B, A & 30 | AL TIF 92 927 gl H, SAeciorar & gafda g1 G 3 C us
AL % (Aeea® Il g1 T a7 G 3fiT 7 &f C el | q¥atdd gl Iriehed = o Hafdd =Ath, F %
21 ATT T 9T 927 gl € TSIl F Hatdd SAT<h, IeT0T SThIERT | HaTerd oFi<h & 10 | gAY
TITT 9T 93T 8| AT F HaATad 2AT<h, T3S o qeaiad 2A1<h & [Mahedd TS|l gl G, TRATaer o
THITAT SATh & a0 | TAY T 9 937 g1 D et ¥ aeafaq AT & a0 § dE &7 9%
I=T 2

Q1. RHEEd § & &4 9 TS § ¥ 19 SATh & a0 § ga¥ T 92 937 872
(a)B

(b) A

(c)F

(d) D

(e)C

L1Difficulty 2

QTagsCircular seating arrangement

Q2. fRwferfera § & i arfear & qeefad g2
(a)D
(b) A
(c)G
(d)E



(e) F
L1Difficulty 2

QTagsCircular seating arrangement

Q3. FHferfed & & #iF a1 F27 A & 3wy § 977 872
(@) F, A% T0 § T e X 92T 8

(b) A zferor stofiverT & Hvatea g

(c) A 3T F % W& haol &l A<h 96 &

(d) A ST & TvafaT 2

(e) A, GFIF AU a1 &

L1Difficulty 2

QTagsCircular seating arrangement

Q4. H & avas § C &7 ©I1 #4757
(a) 31 aTd

(b) 3T & gET

(c) aTd & e

(d) =TT & =T

(e) THAH T FIS ARl

L1Difficulty 2

QTagsCircular seating arrangement

Q5. fReferfera & & i afveraer & Hefead g2
(a) B

(b) H

(c) G

(d) F

(e) C

L1Difficulty 2

QTagsCircular seating arrangement



Q6. 7T ORANGE 9Ts2 & HHT (1<l T IUTHTAT FH | o100 F 70 56 TohT< FG2q (AT SITar
¢ T Us T & 978 U oo SHated At A g, T g8 T & 918 v S S ANy THT
THX| FGEAT & 912 G T R & 77 fohae s 52

(a) q=

(b) T%

(c) e &

(d) &t

(e) TT=

L1Difficulty 1

QTagsReasoning

Q7. T2 9T 476592418 ¥, T | FH 3! H & TAF H 5 Fl SIIST S(TAT g AT i | ST(dF
Sl § | TF ° 2 Fl AT AT 8, A1 36 ThT MiHa dedr # forae st &t srgf<r grar 872
(a) TF

(b) &1

(c) &g &

(d) =TT

(e) A=

L1Difficulty 1

QTagsReasoning

Q8. #f & ¢ srfirsafts W=L20=M>U>C>H2Q>P fAfera &7 & oex g, a1 R & &
T AT M8 &7 F 97 grm?

(a) W<U

(b)L=P

(c)P>M

(d)O=H

(e)C<L

L1Difficulty 1



QTagsReasoning

Q9. 7T ‘SIGNIFICANT’ 912 % T &L T FUTHTAT 77 T aT0 F 270 Fafeeq Fhar sre ar
ToRae STeTTl 7 T Sraarad Teir?

(a) &

(b)

(c) T

(d) =TT

(e) =

L1Difficulty 1

QTagsReasoning

Q10. FHfefad # & &I |7 qcd 2’ % T 9 747 AT AT 072
IR10 KP12 MN14 OL16 ?

(a) RS19

(b) RI19

(c) QR18

(d) QJ18

(e) TTH T FIS ARl

L1Difficulty 1

QTagsReasoning
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Directions (11-13): THHT<TI
el

i ==RAT, P, R, S, T 3T U & &, T T AT AAT-TAT g PRI R X T H ATIF 21 S
FT AT U & 7 g1 Faer &l ARAT 7 A% P | (T4 g, et 91 65T g1 9a9 i A fh
T WTX 55(FAT 2

T ST &7 SATIAH ATAT hitord i 30 7T 7wt & 37

Q11. Raffea § & w9 Ja9 et =Af<h 872
(a) U
(b) R



(c)S

(d)T

(e) Ratia a5t o ST |1=har
L1Difficulty 1
QTagsReasoning

Q12. 7T U &1 9% 700aT 8, a7 S T AT Foha=T gf Tt g2
(a) 63

(b) 64

(c) 68

(d) 72

(e) TAH T FIS ARl

L1Difficulty 1

QTagsReasoning

Q13. fora ==fral &1 9T R & AfgF g2
(a) TF

(b) =T

(c) &=

(d) FIE T

(e) MeaTia 7gt FoFaT ST Tt 8
L1Difficulty 1

QTagsReasoning

Q14. ‘Traditional’ «rs3 & frae o1e1T T30 8, ISAH & Ti® & 7 9Ae8 § Ia ol o7& g forae
SIS AUHTAT | 37 TeT Bl 87

(a) =TT & Aferw

(b) T

(c) =

(d) &1




(e) 1€ &
L1Difficulty 1
QTagsReasoning

Q15. TF FefT & a9} T T o1 & 2577 37T 1= & 3697 g1 F47 | fohar fA=meff g2
(a) 61

(b) 59

(c) 52

(d) 58

(e) 60

L1Difficulty 1

QTagsReasoning

Solutions
Solutions (1-5):
Sol.

F (Sri Lanka)

[Australilell] G (Pakistan)

cC
(West Indies)

D E
(England) (Bangladesh)

B
(South Africa)

S1.Ans(a)
S2.Ans(c)
S3.Ans(d)
S4.Ans(c)
S5.Ans(b)



S6.Ans(a)
Original word- ORANGE
Obtained word- AGENOR

S7. Ans.(e)
Sol. Original Number- 476592418
Obtained Number- 254377266

S8. Ans.(e)

S9. Ans(b)
Original word- SIGNIFICANT
Obtained word-ACFGIIINNST

S10.Ans(d)

Solutions (11-13):
The arrangement will be:
U>S>P>R/T>T/R

S11.Ans(e)
S12.Ans(c)
S13.Ans(e)

S14.Ans.(c)
Sol. LO, LN, NO

S15. Ans(e)
Number of students in the class= 25+36-1=60






